MATERTAL LIST

ITEM PART NO, DESCRIPTION ‘C!TY‘

[ | 430C-664 |HOUSING [1

430C-666 |SLIDE PLATE 1

430C-1643 |SLIDE PLATE SHAFT

431Y-144 |COVER

430E-521 |SHAFT BEARING GUIDE

450B-082 |OIL SEAL

2

3 1
4 Bl
5 | 430C-916 |GASKET 2
6 1
7 1
8 1

430JH305 |CLEVIS PIN

9 450JH069 |COTTER PIN — 1/8” DIA. X 3/4" LG. 1
10 450JH065 |1/2-13 X 1 LG. SHCS. 12
11 1/2 LOCKWASHER 12
12 1/2-13 NUT 12
13 3/8-16 X 3/4" LG. HHCS 16
14 3/8 LOCKWASHER 12
15 3/8-16 NUT 12
57 11/16" 6 5/16-18 X 1 1/2” LG, HH.CS. 4
16 5/16 LOCKWASHER 4
17 5/16-18 NUT 4
[al
s = 22 172"
[
S T P S 1/2" TYP = 7 7/8"
SN TYP TYPT T
) N
N |
Nag==—= -
y SRS S o s SR AL R o R R
N \ | @ Il I
= & | 7 1er | © i ‘ LO (
1n \ | I ﬁ%
T \ N B e T - = X
\ | |
o | I | \} I |
\ e o IO
1=t %:: 7:ﬁ54\::
Vo
N "
S e
o
>
R -
T
o g
T ©
f [
- - NOTE:

1
T

1) APPROX, WT. = 41 lbs.

— 3 1/2" =~

cioT

O MA 'YV IL180X80\31eO3P!IS\'IN

o

9-15-98 | REDIMENSIONED PRINT & ADIDED NOTE BB

F 6-10-96 |ITEM 3 WAS 430C665, ADD ITEM 17 GJL
E | 2-15-96 | REDRAWN ON CAD oRP
REVISIONS

WM. W] MEYER & SONS. INC.

SKOKTE, ILLINOIS

8 X 8 T-BAR DUST TIGHT SLIDE GATE

OUR SO, NO. REF. S.O0. NO.

DRAVN N7 DATE p_o¢-gg | DRAWING NUMBER

APPROVED yop | SCALE 4,40 | 430C—663




